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M Hoy SN
R ANFEATRE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 2L Hl 5,400 5,400 0
OXNJSAIAH 2455 gR2F&X
150,000€ = 3% » 12€ 5,400
203 € R F&d| 1,500 1,500 0
03 AIEH =& 2 F X Y| 1,500 1,500 0
OXNJSAIYH & =X 2AHX 2tEF
10,000€ = 150 = 13l 1,500
206 M = H| 5,000 5,000 0
01 X2 H| 5,000 5,000 0
OXNIESANES MU (IISSAIHY , M2 AL
5,000,000 5,000
301 LBt A= 10,400 10,400 0
09 SHAIAHI B A2 10,400 10,400 0
OXNIEAN & - SLUNSEHALX AH A
2,000,000& 2,000
OXNIEAIN HEHA 35 AT B4
100,000 = 10 = 23] 2,000
OnoteEl LUs&EE W 1,000,000& * 23| 2,000
OFAEXNSSAF MEstW 500,0008 * 23| 1,000
OXNE S A 83| &I 7,000& * 200¥ 1,400
O ZZ2SHA ANEAA AHEA
5,000& * 400¥ 2,000
307 giztol A 56,000 44,000 12,000
02 AI2tAAMAIE E =X 19,000 12,000 7,000
Oztdx XNEAA S0ISUHE 8,000,000 8,000
ORI E2AA HSEME A 4,000,000& 4,000
O0H2AMU AFEULSD] & XIE A EASHA
& 5,000,000 5,000
O=LAMNHESAME =35H K& 2,000,000& 2,000
10 M SXNANEEHESIHEX 37,000 0 37,000
OO0l ZHEULSIIAME =&
7,000,000 7,000
OAMEO ERIIANYE =& 25,000,000 25,000
OAIEe W2FHLISIIAIE =4 5,000,000& 5,000
ols=2=2xg 249 28,250 23,050 5,200
201 et 7,550 8,050 A 500
01 AP 2t 2] d| 1,500 1,500 0
Ogtt4f24| 1,500
—0sSsSsEHyg E2E #*¢ 1,500,000 1,500
02 B232%H| 6,050 6,550 A 500
O2232=2 % HA 1,550
—0SSSIHE 282 50,000 50
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AN FUHEX S D
M Hoy SN
& HFSALE2RS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
N EEE LY
1,500, 000& 1,500
O Xte & Byl 4,500
—os==2xneg s5U 250,000& * 102 2,500
— 0SS SSHH |FUH
50,000& = 103 500
—0ls=EsXE sAx=44| 1,500, 000& 1,500
301 et a3z 20,700 15,000 5,700
MIEE43 20,700 15,000 5,700
O0ISSALXE AEASAH SAA 24
45,0008 » 2% + 232 = 10& 20,700
Ol OSSN (MNENE) 2 9,050 10,050 A 1,000
201 et 9,050 10,050 A 1,000
01 At 22l 2,000 2,000 0
Oget=&H| 2,000
—OlsNEXE 225 72 2,000,000& 2,000
02 23224l 7,050 8,050 A 1,000
Oz3&22= & HA 1,550
—OISHNEXE FINEELES 50,000& 50
—OISHEXY BE2 ¥ 448
1,500,000& 1,500
OXtg & et 5,500
—OsNEXE SFOU 350,000& = 103 3,500
—O0ISMEXE SXl=4HH| 2,000,000& 2,000
HE2LAZH (= HETAN) 39,448 32,080 7,368
Jl2Zddl (=2 A4 X & D) 39,448 32,080 7,368
Jl2ZHI(F2 X 2 D) 39,448 32,080 7,368
201 Let24E] 22,648 17,880 4,768
01 At 2t 2l 22,648 17,880 4,768
Oget=gHl 400,000 * 199 7,600
O= &l 66,000& * 198 « 128 15,048
202 O4dl 11,400 9,000 2,400
01 = LH 4 Hi 11,400 9,000 2,400
OJlege=¥ 50,000& = 19% = 123 11,400
203 YR =&l 4,200 3,000 1,200
04 NI 4,200 3,000 1,200
ORAN2EYE=4HI 350,000& = 123 4,200
204 MR I 1,200 1,200 0
01 M2 1,200 1,200 0
OXMGHR=AH| 100,000& * 128 1,200
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SN FOIMBXED
o RS (FUMBAD)
S9l: LRI KIE (F0 MBI D) (B9 ®R)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NRas (=0 Max ) 663,709 663,252 457
HEAHN XS (F2UME X2 1) 663,709 663, 252 457
HWEAHHX S (F2UHE X2 1t) 663,709 663,252 457
701 JIEtIHEEES 663,709 663,252 457
01 JIEtsI HEES 663,709 663,252 457

OA=2S0WIISSELE3H 8=3 663,709,000 663,709




